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A fixed beam made of steel is shown
in fig. at collapse, the value of
load P will be equal to

10Mm,/L

12m,/L

16M, /L

20Mm, /L

aooe

02. The ratio of collapse load
of a propped cantilever of
span ‘I’ carrying a udl
through-out the span to
that of a simply supported
beam carrying the same
load is

a. 1.457
b. 1.500
c. 2.000
d. 3.000

03. Elastomeric bearing pads are

a. Flat solid metal plates

b. Preferable to steel roller any
periodical maintenance

c. Not as satisfactory for concrete
bridges as they are for steel bridges

d. Made of thermo-plastic material

04. To transform an indeterminate
frame with a degre
indeterminacy ‘r’ int
determinate one, the nu

of plastic hinges required is

a. R+2

d. 1/6 or 3d from
whichever is les

12. Match List | {type of connection) with List Il (type
06. A steel beam of reaangl"ar of beams ) and select the correct answer using

cross-section is clamped at the codes given below the lists

- . List1 .
both ends. Plastic deformation A. Semirigid connection 4. ,,,L":,:',,..it arge angles of
is just observed when the udl B. Framed . rotation and to  transmit
on the beam is 10 kN/m. at the 2. To allow small end ratation

C. Flexible connection and  transmit  appreciable

instant of collapse, the load on
the beam will be

a. 10kN/m ‘which is shop-riveted
b. 15 kN/m . . Bt e
c. 20 kN/m N\ . - 5 is connected to a
d. 30 kN/m d g hion by means of

07. Ina compos struction

» Y
a. Interfa op g nted by,

using sheaF conne
. \Differential shrinkag
by using the same grac
or both the éompone
Precast member is

arry the weight of in-

ete without props

. The oncrete €z

08.

15. The height at which wind
force acts on a moving
vehicle on a bridge deck is

1.2m

1.5m

1.7m
2.0m

a0 ow

compression
length v

ition nor restrained against
‘otation at the other end, is

L

1.21L
1.5L
2.0L

mooe



